Q1: Alice collected lolliPoPS. Sweets £ chocolate in the
ratio 2:3:U. If she had § chocolates how many lolliPoPg
and SweetS did she have? .

02: Ben collected lolliPobs. sweets & chocolate in
the ratio Y:5:7_1f he had 8 Sweet s how many
lolliPoPS and chocolates did he have?

03: Ahmed. Tina £ Lin collected sSweets in the ratio
2:6:7. If Ahmed had 18 sSweets. how many did Tina
2 Lin have? .

QU: Ahmed. Tina £ Lin collected Sweets in the
ratio 3:6:7. If Tina had 18 SweetS. how many did
Ahmed £ Lin have? .

0Q5: A house was decorated with ghosts, PumPking
and sPiders in the ratio 1:3:3. If there were Y(
gpPiders. how many ghogts and 2 PumPking are
there?

0Q6: A house was decorated with ghosts. PumPking
and SPiders in the ratio 1:3:8. If there were 24
PumPking, how many sPiders are there? .

Q7: The trick or treaters knocked on Some doors.
They had treats. tricks and no answers in the
ratio of 10: 3:2. They knocked on €0 doors
altogether. How many doors didn't answer?

08: The trick or treaters knocked on Some doors.
They had treats. tricks and no answers in the
ratio of 10: 3:2. They had 30 treats altogether.
How many doorg did they knock on?
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Q1: Alice collected lolliPoPS. Sweets £ chocolate in the
ratio 2:3:U. If she had § chocolates how many lolliPoPg

and SweetS did she have? .

02: Ben collected lolliPobs. sweets & chocolate in
the ratio Y:5:7_1f he had 8 Sweet s how many
lolliPoPS and chocolates did he have?

03: Ahmed. Tina £ Lin collected sSweets in the ratio
2:6:7. If Ahmed had 18 sSweets. how many did Tina
2 Lin have? .

QU: Ahmed. Tina £ Lin collected Sweets in the
ratio 3:6:7. If Tina had 18 SweetS. how many did
Ahmed £ Lin have? .

0Q5: A house was decorated with ghosts, PumPking
and sPiders in the ratio 1:3:3. If there were Y(
gpPiders. how many ghogts and 2 PumPking are
there?

0Q6: A house was decorated with ghosts. PumPking
and SPiders in the ratio 1:3:8. If there were 24
PumPking, how many sPiders are there? .

Q7: The trick or treaters knocked on Some doors.
They had treats. tricks and no answers in the
ratio of 10: 3:2. They knocked on €0 doors
altogether. How many doors didn't answer?

Q8: The trick or treaters knocked on Some doors.
They had treats. tricks and no answers in the
ratio of 10: 3:2. They had 30 treats altogether.
How many doorg did they knock on?
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Q1: Alice collected lolliPoPS. Sweets £ chocolate in the
ratio 2:3:U. If she had § chocolates how many lolliPoPg
and SweetS did she have? .

02: Ben collected lolliPobs. sweets & chocolate in
the ratio Y:5:7_1f he had 8 Sweet s how many
lolliPoPS and chocolates did he have?

03: Ahmed. Tina £ Lin collected sSweets in the ratio
2:6:7. If Ahmed had 18 sSweets. how many did Tina
2 Lin have? .

QU: Ahmed. Tina £ Lin collected Sweets in the
ratio 3:6:7. If Tina had 18 SweetS. how many did
Ahmed £ Lin have? .

0Q5: A house was decorated with ghosts, PumPking
and sPiders in the ratio 1:3:3. If there were Y(
gpPiders. how many ghogts and 2 PumPking are
there?

0Q6: A house was decorated with ghosts. PumPking
and SPiders in the ratio 1:3:8. If there were 24
PumPking, how many sPiders are there? .

Q7: The trick or treaters knocked on Some doors.
They had treats. tricks and no answers in the
ratio of 10: 3:2. They knocked on €0 doors
altogether. How many doors didn't answer?

08: The trick or treaters knocked on Some doors.
They had treats. tricks and no answers in the
ratio of 10: 3:2. They had 30 treats altogether.
How many doorg did they knock on?
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